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                                       Review Questions 1
                             Economics 2221b 570

Note that these review questions will be constantly revised until the One Week Before the 1st Midterm test. 
I.CONSUMPTION THEORIES
Keynesian Theory of Consumption

1. In a Keynesian consumption function such as C = C0 + C1 Yd, show mathematically that the average propensity to consume is falling as the level of income goes up.
2. Explain that as an economy gets developed over time and the level of national income rises, the gap between the aggregate supply and the aggregate demand will widen, and thus there will be a recurring secular stagnation.  Use the concept of a falling APC.

3. What are the solutions for the problem of Q 3, which are suggested by J.M. Keynes?

4. What  was the solution for the problem of Q 3 proposed by Karl Marx?

5. How does  a “Income Transfer Policy” of the government from the rich to the poor lead to an increase in the aggregate expenditures(AE)  for the society? Use the concept of different values of APC between the rich and the poor.

Milton Friedman’s Permanent Income Hypothesis
6. What is the concept of the Permanent Income Hypothesis (PIH) of Consumption?  Explain, and give the formula.
7. Set up a simplified two-period model of PIH of consumption by using Yd t-1, Yd t, , Yp, cp, and so forth, as used in class.
8. Suppose that there is a change in the current income and its impact on the current consumption.  
i)What kind of an ‘additional question’ about the change in income should we ask before we start analyzing the impact of the changed income on consumption?

ii)From 7, the current marginal propensity to consumer or dCt/dYt.  
iii) What would be the true value of the Keynesian Government Expenditure Multiplier(including only the goods market), and the true value of the Keynesian Fiscal Policy Multiplier(considering both the goods and money markets) respectively?

iv)Suppose that there is a one-time tax cut by $1  between t-1 and t. What is the true value of the Keynesian Tax Multiplier in this case?
v)Suppose that there is some change in income between t-1 and t. However, the consumer thinks that most of the change/increase in income will not be repeated. In other word, the increase  in income is regarded as ‘transitory’, as opposed to ‘permanent’.  What will the consumer do with this change in income?  Or what will be the marginal propensity to consume for this particular ‘transitory’ increase in income?
9. Evaluate the following statement: True, uncertain, and false, and explain why.

“When people regard a change in income as transitory, they will just spend the whole change away.”

Life-Cycle Hypothesis of Consumption Theory by Franco Modigliani
10. What are the simplifying assumptions of the LCH about the expectations, an access to credit market, and so forth?  
11. Illustrate the income and consumption paths over life-time?  What would be the difference between the two when they are not equal to each other?
12. What is the mathematical expression of the LCH, including both life-time labor income and wealth?  How can you use this function and explain Simon Kuznets’s finding of the constant Average Propensity to Consume of the long-term?

Robert Hall’s Random Walk of Consumption Path

13. We can predict the overall or general trend of consumption over time, but cannot predict whether consumption will go up or down next year or “changes in consumption are unpredictable and random”.   How can you explain this?

Ricardian Equivalence

14. Explain the Ricardian Equivalence Theorem (about a present tax cut and a future tax hike).

15. What are the two conditions on the part of the current generation for the Recardian Equivalence to hold?
Other Consumption Theories

16. Use David Laibson’s theory of Hyperbolic Preference of Consumers and ‘(A hen laying) Golden Eggs’, and explain the growth of asset markets(real estate, and financial market).  Explain the most recent development of the financial market innovation and its predicted impact on consumption/savings (growth and increased liquidity, and predicted consequent savings/consumption). 

Hint: The representative consumer here in his theory has more problem with his will-power due to his hyperbolic preference for consumption than he does with his irrationality. He fails to do consumption smoothing by himself, but in a larger frame, he is rational enough to force him to save, and not to excessively consume.

 Overview of Consumption Theories

17. What is the representative Keynesian consumption function in the linear format?  How does this consumption function predict a problem of secular stagnation for an economy over time?  On the other hand, what is the representative consumption function of the Classical School represented by Milton Friedman?  Why does the consumption function not foresee any problem of excess supply or secular stagnation?

18. Suppose that a government cuts income tax now by $1 billion.  This is a one-time fiscal policy action. 
1) What is the impact on consumption, AE, multiplier(generic or tax multipliler) and Y* in the framework of the Keynesian consumption theory?  Give the numerical answers as well as explanation.

2) What is the impact on C, AE, a false or erroneously measured MPC against one period of income Yt , multipliers, and Y* according to the PIH?  What additional question should be ask about the change in tax?
3) What is the impact on C, AE, multiplier, and Y* according to the LCH? 
4) What is the impact on C, AE, multiplier and Y* according to Robert Hall? What additional question should be ask about the change in tax?
5) What is the impact on C, AE, multiplier, and Y* according to the Ricardian Equivalence(Ricard—Barro Consumption Theory)?
International Over-consumption and Under-consumption in international economics(trade and finance). 

19. In the aspect of external economy, we have witnessed trade deficits accumulating in the U.S., and trade surplus mounting in the U.S.’s trading partner countries in the Fas East. At the same time, as for the internal economy, we have witnessed the gradual increase in consumption rates and accordingly the gradual decline in savings rates in the U.S., and the opposite in some East-Asian countries. 
1) Use the equilibrium equation of national income accounting system with injections and leakages, and prove that the two economic phenomena, external and domestic , are interrelated with each other.  

2) As the last point, we also find that the investment demand in the U.S. is very strong while the domestic investment demand by the East Asian countries is relatively weak.   How does this difference secure the international partnership between the two parties, U.S. versus the East Asian countries in the areas of trade and finance?   
3) What would happen to U.S. economy if trade deficits and their liquidity leakages do not go back to U.S.? 

4) Why would the interlocking trade relationship between U.S. and China be lasting?  What are the chances that the U.S.-China trade partnership would end?
II.INVESTMENT AND GROWTH THEORIES
20. Accelerator Model of Investment

1) Use the following simple superficial relationship between I, K, and Y, and explain why I is the most volatile component of Aggregate Expenditures.

It = Kt –Kt-1; Kt = v Yt
2) Why, for what practical purposes, would Keynes and Keynesians be interested in/keen on proving that investment is intrinsically volatile?

21. Use the Rental Cost Theory of Investment of the Neo-Classical School for the following questions:

1) If there occurs an increase in inflation rate, which is unexpected, what will happen to K and I in the short-run as well as in the long-run?

2) If an economy is experiencing an accelerated inflation, which is completely expected, what will be its impact on real national income?

3) Define the terminologies of Neutrality and Non-Neutrality (of Inflation) first, and assign them to the cases of Questions 1) and 2) respectively. 

22. Tobin’s Q Theory

1) What is the Neo-classical Theory of the Relationship between the Financial Market, particularly Stock Market, and Physical Investment (and thus real national income)?  Give the formula and explain the formula for a possibility that stock market boom may lead to new investment and a larger national income. 

2) In reality, we do not observe one-to-one relationship between the performances of the stock market and the real national income. Explain it in terms of the ‘tenuous’ natute of Tobin’s Q Theory, and their flaws. 
3) Use your answer to the above question #22. 2) to explain why stock market crashes do not necessarily lead to a sharp decrease in investment or recession.

23. Solow Model of Economic Growth

1) The annual rate of economic growth is measured, as is often the case, a percentage growth of the total GDP in real term.  Country A reports the annual rate of economic growth of 4% while Country B reports the annual rate of economic growth of 2%.  Many assume that the standard of living of the citizens of Country A rises faster than that of the citizens of Country B. Explain the flaw of this comparison.  And then, explain what should be the correct measure of the annual improvement of the standards of living of the citizens of a country.
2)  Derive and draw the basic model of the Solow Model of Economic Growth: Properly label the horizontal and vertical lines (axis). In relation to above 1), please note what is used as the measure of the economic growth/development in this model?
3) What are the ways to raise the level of the national income in the Solow Model?
What are the ways for a ‘sustained’ – steady state at a higher level of per capita national income forever- economic growth?
4) Use the above Solow Model graph to explain and illustrate the following questions (An illustration with graphs and a short-answer will be sufficient):

i) After World War II, Japan made one-time war repatriations for some Asian countries, such as Korea, Indonesia, Philippines, and so forth.  Show why this repatriation itself, either in money or capital, does not help those economies in the long-run in most countries, except for Korea.

ii)  For example, Korea had a few injections of capital into her economy, such as the Japanese war repatriation, Vietnam and Middle East monies.  Can we explain the continued economic growth with these injections? Or do we need something else to explain the continued growth of the Korean economy?  

iii) Justify the short-term merit of Birth Control Policy in the East Asia through the illustration on the Solow Model graph.  (ii)Discuss the long-term peril of such a policy in relation to the Japan n the 1990s and the 2000s.

iv)  When people evaluate the economic performance of a country, they look at the growth rate of the U.S. economy which has recorded 3% per annum for the last three decades. This does not comply with the prediction of ‘convergence’ over time by the Solow Model.  What would be the way to achieve such a sustained economic performance?  Illustrate your answers with the Solow Model graphs. 
5) What is the Endogenous Economic Growth Model? Please, take a few specific cases of studies in that line of research.

6) Answer the following questions in the context of the Endogenous Economic Growth Model:

i) What is the most prominent explanatory variable in the empirical research of the Endogenous Economic Growth theories?

ii) What is the Computer Paradox?

iii) What is the empirical finding of the relationship between natural resources and economic growth, and corruption and economic growth?
